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2N BZZF0ie ot
M AYS CEME BE
el cSME2EN ASIEN =2 (Sl & &)
SA-EHB - BAEH) - NRAY - BES 0] &b 2 p/E-F HIDE2
Z 204 It 901,817,010 893,306,408 8,510,602
= 799,998,534 794,581,809 5,416,725
J| 1,971,604 1,944,716 26,888
< 99,846,872 96,779,883 3,066,989
H2E LE:ME BF 745,451,695 740,464,342 4,987,353
= 669,704,596 667,162,028 2,542,568
J| 1,859,888 1,833,000 26,888
S 73,887,211 71,469,314 2,417,897
SHEEIN AL EOH = 668,926,579 667,734,847 1,191,732
= 639,223,444 639,223,444 0
S 29,703,135 28,511,403 1,191,732
I2Y 29 #4435 N 5,166,644 3,974,912 1,191,732
308 XtXIEHHSOIA 2,237,894 1,276,912 960,982
01 AXHHILEES 2,237,894 1,276,912 960,982
ozz4g 29 XN& 2,041,892 1,080,910 960,982
403 A X HHSH=01A 2,928,750 2,698,000 230,750
01 AR SHHA =22 = 2,928,750 2,698,000 230,750
cdzg JIsEZ 2,928,750 2,698,000 230,750
ololz - EXIA4E &5 68,011,388 64,445,767 3,565,621
= 25,774,204 23,206,636 2,567,568
J| 1,859,888 1,833,000 26,888
=) 40,377,296 39,406, 131 971,165
Loz ENAE 23 XA 35,010,728 34,951,078 59,650
403 AXHHSXH=0lA 136,650 77,000 59,650
01 AR SHHA =22 = 136,650 77,000 59,650
OLURAANLE &5 JIs=22 136,650 77,000 59,650
COQAANLESFS(IIsEZ) AE (=) 5,773,107 2,296,694 3,476,413
= 3,798,784 1,148,347 2,650,437
=) 1,974,323 1,148,347 825,976
403 A X EHHS =0l A 5,773,107 2,296,694 3,476,413
= 3,798,784 1,148,347 2,650,437
) 1,974,323 1,148,347 825,976
01 X SHHA2E = 5,773,107 2,296,694 3,476,413
OLQQUANE HFE(JIsEZ) 2,732,340 2,296,694 435,646
= 1,366,170 1,148,347 217,823
S 1,366,170 1,148,347 217,823
OLQQAANE EF(XNMALEH) 3,040,767 0 3,040,767
= 2,432,614 0 2,432,614
=) 608, 153 0 608,153
SSHNHA SML ESEX @ AR 813,540 727,140 86,400
308 XXM SOl A 805, 140 718,740 86,400
01 AXHHBLEES 805, 140 718,740 86,400
OSSAMNHIA SAR 282X 805,140 718,740 86,400




2N BZZF0ie ot
M AYS CEME BE
@ Lolog - SXAE &5 (Sl & &)
SA-EHB - BAEH) - NRAY - BES 0] &b 2 p/E-F HIDE2
SAHLO ZoHo SSATAAMAMHIA 22 X (=2 2,254,418 2,221,808 32,610
)
J| 1,859,888 1,833,000 26,888
=) 394,530 388,808 5,722
307 glztol & 56,386 55,520 866
J| 28,193 27,760 433
=) 28,193 27,760 433
10 A SXAEHE2SHIEX 56,386 55,520 866
O=NLo Zofel SsSHaMbA 29 56,386 55,520 866
J| 28,193 27,760 433
=) 28,193 27,760 433
308 A EHHSOIA 2,198,032 2,166,288 31,744
J| 1,831,695 1,805,240 26,455
< 366,337 361,048 5,289
01 HIXNHHNBMNEELES 2,198,032 2,166,288 31,744
OSHLQ HoHe SsSAMEA 29 2,198,032 2,166,288 31,744
J| 1,831,695 1,805,240 26,455
= 366,337 361,048 5,289
LogtEsEAMUA XA (21) 21,167,206 21,256,658 A 89,452
= 19,472,011 19,554,880 A 82,869
=) 1,695,195 1,701,778 N 6,583
307 21201 & 108,817 106,600 2,217
= 76,171 74,610 1,561
=) 32,646 31,990 656
10 ALSISXAIEEE2GHEX 108,817 106,600 2,217
oOkoXE=SAEIA HEII2 XA 108,817 106,600 2,217
= 76,171 74,610 1,561
< 32,646 31,990 656
308 MHXIEHSOIH 21,058,389 21,150,058 A 91,669
= 19,395,840 19,480,270 A 84,430
< 1,662,549 1,669,788 AT,239
01 HXNHHNBHELS 21,058,389 21,150,058 A 91,669
OrQAESs=S A AMY X2 21,058,389 21,150,058 A 91,669
= 19,395,840 19,480,270 A 84,430
=) 1,662,549 1,669,788 NT,239
SXAE 29 X& 3,494,249 3,264,249 230,000
= 75,000 100,000 A 25,000
=) 3,419,249 3,164,249 255,000
M2 SXAIE 24 2,897,349 2,867,349 30,000
403 AXHHSXH=0lA 169,325 139,325 30,000
01 AR SHHA =22 = 169,325 139,325 30,000
o=z Jis2d N 169,325 139,325 30,000
COMINQYQAXNAME 2R/ (=) 150,000 200,000 A 50,000
= 75,000 100,000 A 25,000
=) 75,000 100,000 A 25,000




2N BZZF0ie ot

M AYS CEME BE

&2 EXNAE 28 X (Sl & &)
SA-EHB - BAEH) - NRAY - BES 0] &b 2 p/E-F HIDE2

307 21201 & 150,000 200,000 A50,000
= 75,000 100,000 225,000
& 75,000 100,000 A 25,000
10 ALl SXAIEEE 2 H EX 150,000 200,000 A 50,000
OLQAIRLRAXNALEH 2HXA 150,000 200,000 A 50,000
= 75,000 100,000 A 25,000
< 75,000 100,000 A 25,000
CORINQSQULRAXNAMYH LKA (KA) 250,000 0 250,000
308 XXM SO A 250,000 0 250,000
M3 2S0HetE & X A E A HI 250,000 0 250,000
OLQEILSLARLAXNZLEH &X 250,000 0 250,000
ZOHUSX ANEE =4 156,334,553 152,811,772 3,522,781
= 130,293,938 127,419,781 2,874,157
J| 111,716 111,716 0
S 25,928,899 25,280,275 648,624
ZFA=STALE &5 & 29 47,653,769 47,504,726 149,043
= 35,040,778 35,175,232 N 134,454
J| 111,716 111,716 0
S 12,501,275 12,217,778 283,497
ABI X012 SAX MR H 153,619 119,419 34,200
307 glztol & 78,825 44,625 34,200
11T MISRASEX 78,825 44,625 34,200
O% AtsI=XJI2 SAN HRHA 78,825 44,625 34,200
Zopel MATHEALE 2 751,296 753,921 A2,625
307 glztol ™ 751,296 753,921 A2,625
10 ALl SXNAIEEE2EHEX 751,296 753,921 A2,625
Osld=2sHgE 23 368,798 366,026 2,772
OsHESHAMUYH 23 382,498 387,895 A5,397
LW EANE JIs2S 93,000 38,000 55,000
403 A X EHHS =0l A 93,000 38,000 55,000
01 X SHHAN2Ex 93,000 38,000 55,000
OZMAXMNATMEAE JIs2S 93,000 38,000 55,000
Zoiel XGASMEANE 29 3,997,239 3,950,878 46,361
307 glztol & 3,983,739 3,937,378 46,361
10 ALl SXAIEEE2EHEX 3,983,739 3,937,378 46,361
OFHQ MEQSKNAUH 2¢ 334,619 324,317 10,302
O FHASSE=EXN2 29 2,756,401 2,721,862 34,539
OMetM=2tEsAs 29 186,871 185,351 1,520
ZUUH=AE 2SEXNA(Z1) 33,839,519 33,984,919 A 145,400
= 31,167,978 31,240,678 AT2,700
< 2,671,541 2,744,241 AT2,700
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SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
307 2Iztol ™ 0 145,400 A 145,400
= 0 72,700 AT72,700
< 0 72,700 AT72,700
10 M3 ZXNANEHI2IHES 0 145,400 A 145,400
OFe dH 2gX& 0 145,400 A 145,400
= 0 72,700 AT2,700
= 0 72,700 AT2,700
SOOI HFAIE D219 EH2AE S 73,828 0 73,828
D)
= 68,000 0 68,000
== 5,828 0 5,828
308 XIS S0 73,828 0 73,828
= 68,000 0 68,000
< 5,828 0 5,828
01 AXSGHBLAEES 73,828 0 73,828
OFMUNEAL D219 AS2Y (1 3
A& 73,828 0 73,828
= 68,000 0 68,000
< 5,828 0 5,828
TOHQUHFAIL I SEAAE(22) 1,210,570 1,470,076 259,506
= 605,285 735,039 AN 129,754
< 605,285 735,037 AN129,752
403 Mt S S X201 & 875,290 1,134,796 A 259,506
= 437,645 567,399 AN 129,754
= 437,645 567,397 AN129,752
01 XXM A=2E = 875,290 1,134,796 A 259,506
QFHOUMUANFAIE JISEZAY 875,290 1,134,796 A 259,506
= 437,645 567,399 AN 129,754
= 437,645 567,397 AN 129,752
ZOHIHNF=AIE S G X2 (KHA) 628,562 579,877 48,685
307 2Iztol ™ 481,165 458,980 22,185
10 M3 SXNANEHI2IHE=X 473,421 451,236 22,185
OFOfel tUHeHIIESA 2Y 251,127 230,276 20,851
OXe BSMEIIH(BLIBICE) 29 59,121 58,423 698
OXZOe ZsMeEIAE(0ld, otd) 2 86,520 85,884 636
308 XXM S0l A 138,997 112,497 26,500
01 AXSHHBAEES 138,997 112,497 26,500
OO HNF=AE 22 HFoH 135,633 109, 133 26,500
ORI GAZMEANE JIsE2L XA 393,500 115,000 278,500
403 XAtXISHM S X201 ™ 343,500 65,000 278,500
01 XXM =22 £ 343,500 65,000 278,500
CFMeIEH=EXZ JIsEZ 218,500 20,000 198,500
OF2UESAMN4Y JIsEZ 95,000 30,000 65,000




A2
CHMA=EX AEE

M

=
=o
D HMHASTAE =2F 2 29

a2 (3A) - NRAY - BYS 0] &b 2 p/E-T HDE2
OMEOSXNELE JIsEZ 15,000 0 15,000
oHel H& A3t 114,900 104,900 10,000
308 XXM SOl A 114,900 104,900 10,000
01 AXHHBLEES 114,900 104,900 10,000
oOFMelaE =2 N& 69,400 59,400 10,000
gagFs 249 1 10,000 0 10,000
308 MtXIEHMSOIH 10,000 0 10,000
01 HXHHBAEES 10,000 0 10,000
OXNgMe=e 2dH X& 10,000 0 10,000
QraEord o HEXA 107,442,150 104,167,912 3,274,238
= 95,121,315 92,112,704 3,008,611
< 12,320,835 12,055,208 265,627
OHe! EsXd=20 XA (22) 47,163,429 44,542,273 2,621,156
= 43,440,000 41,025,778 2,414,222
< 3,723,429 3,516,495 206,934
308 MtXIEHMSOIH 47,163,429 44,542,273 2,621,156
= 43,440,000 41,025,778 2,414,222
S 3,723,429 3,516,495 206,934
01 HXNHHNBHELS 47,163,429 44,542,273 2,621,156
OFHe EsXNA=SH XA 47,163,429 44,542,273 2,621,156
= 43,440,000 41,025,778 2,414,222
= 3,723,429 3,516,495 206,934
SEX IR0 (=21) 277,733 123,051 154,682
= 255,813 113,337 142,476
=) 21,920 9,714 12,206
308 XX EHHSOIA 277,733 123,051 154,682
= 255,813 113,337 142,476
=) 21,920 9,714 12,206
01 AXSHHBAEES 277,733 123,051 154,682
OEsExX et =20 277,733 123,051 164,682
= 255,813 113,337 142,476
< 21,920 9,714 12,206
oHole=sX2 ZHoel 218 - Sg€s3 N (=22 416,914 0 416,914
= 384,000 0 384,000
< 32,914 0 32,914
308 MHXIEHMSOIH 416,914 0 416,914
= 384,000 0 384,000
= 32,914 0 32,914
01 X HHILEES 416,914 0 416,914
O ESXE Fofe 25 - E8=s NE 416,914 0 416,914
= 384,000 0 384,000
=) 32,914 0 32,914
HIESXE FIHAY 1,193,712 1,191,012 2,700
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el

A2 =0l
ZoHOI=T AEE =
TOHQIMBON U KHEK

0x

SN EH - (EH) - HRAY - BES 0] &k o4 p/E-T Hl D2
308 XXl EHH S0l & 1,193,712 1,191,012 2,700
11 B 2SO0 CH &t & & AL b 10,400 7,700 2,700
OFMHABEXNE ZIIMEY A= 10,400 7,700 2,700
YASBEIDNMEY XV (A2l (2 D) 50,000 0 50,000
2 25,000 0 25,000
= 25,000 0 25,000
402 S12H X201 E 50,000 0 50,000
2 25,000 0 25,000
= 25,000 0 25,000
02 BIERHE AL R X (0| &) 50,000 0 50,000
OYATBEIIINME X (A2l 50,000 0 50,000
2 25,000 0 25,000
< 25,000 0 25,000
SYHEMUIA HIRH A (D) 3,102,624 3,005, 106 97,518
= 2,857,680 2,767,860 89,820
= 244,944 237,246 7,698
308 XHXI X S0l & 3,102,624 3,005, 106 97,518
= 2,857,680 2,767,860 89,820
= 244,944 237,246 7,698
01 HXESHZLEES 3,102,624 3,005, 106 97,518
OLLTHEAMHIA HRH ALY 3,102,624 3,005, 106 97,518
2 2,857,680 2,767,860 89,820
= 244,944 237,246 7,698
HOZYXE HIRH A (2D) 18,574 13,630 4,944
2 17,107 12,556 4,551
= 1,467 1,074 393
308 XXl EHH S0l & 18,574 13,630 4,944
2 17,107 12,556 4,551
= 1,467 1,074 393
01 HXESHBA4EXS 18,574 13,630 4,944
OANLLNE HRH At 18,574 13,630 4,944
= 17,107 12,556 4,851
= 1,467 1,074 393
ZOjOF Ot YSN(2D) 1,225,283 1,300,450 AT5,167
=2 858, 111 910,315 A52,204
= 367,172 390, 135 ~22,963
307 B12+0I & 1,225,283 1,300,450 AT5,167
=2 858, 111 910,315 A52,204
= 367,172 390, 135 ~22,963
IEENNEEEEETEES 1,225,283 1,300,450 AT5,167
OFOHOIIIE LFN AL 1,225,283 1,300,450 AT5,167
2 858, 111 910,315 ~52,204
= 367,172 390, 135 ~22,963
YOI FAESHHA NR(2D) 3,908,570 3,908,571 A
= 3,600,000 3,600,000 0
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Ha: A=K ABEE 84

Hel: ZoHlMEord & HEXH (Sl & &)

SN P SA(EN) - MBAY - BES 0] &k o4 p/E-E" HlDE2
=) 308,570 308,571 A
308 XXM SO A 3,908,570 3,908,571 A
= 3,600,000 3,600,000 0
& 308,570 308,571 A
01 IXNHHBNEES 3,908,570 3,908,571 AT
OLLEHM FAESMHEIA XA (HRH) 3,908,570 3,908,571 A
= 3,600,000 3,600,000 0
< 308,570 308,571 A
A ZojelAdssI2 29XA(=1) 204,000 202,508 1,492
= 102,000 101,254 746
= 102,000 101,254 746
307 21201 A 204,000 202,508 1,492
= 102,000 101,254 746
= 102,000 101,254 746
10 ALSISXAIEEE2IHEX 204,000 202,508 1,492
oOXY FpelAu=8sI2 2949 204,000 202,508 1,492
= 102,000 101,254 746
=) 102,000 101,254 746
ZOHQAINA & ARSI & O &HCH 1,238,634 1,139,134 99,500
= 131,845 131,845 0
< 1,106,789 1,007,289 99,500
ZOH ARSI E O &0 =& 262,700 245,700 17,000
307 glz2tol & 252,700 245,700 7,000
11T AL SXAEE = 252,700 245,700 7,000
oO=s=d L2 Js3lts XA 7,000 0 7,000
308 XXM SO0 A 10,000 0 10,000
01 HIXNHHBNEES 10,000 0 10,000
OLL R ASIENH XA 10,000 0 10,000
ZOHQICHH &3t XI& 232,838 150,338 82,500
403 MRS E X201 E 122,838 40,338 82,500
01 X SHHA2E = 122,838 40,338 82,500
OO JIsEH 122,838 40,338 82,500
HRaes(Z=20e ) 468 0 468
RSN 468 0 468
AMBISINREZ2 2 NEXSEES 468 0 468
802 Btet= DI Et 468 0 468
01 I DEXSe= 468 0 468
©'18d Lo ESHRII2 2SN 327 0 327
O©'19¢ LESHMEI2 2N 131 0 131
©'19¢ SOl = &8 E8EH 22X 10 0 10




